




𝑓′ = 𝑇 𝑓  →   
𝑥, 𝑦
   𝑇   
(𝑥′, 𝑦′) 

𝑓 𝑥, 𝑦
   𝑇   
𝑓′(𝑥′, 𝑦′)

 







𝑥′ = 𝑇𝑥 𝑥, 𝑦  
𝑦′ = 𝑇𝑦 𝑥, 𝑦  





 

𝑥′ =  𝑎𝑟𝑘 ∙ 𝑥
𝑟 ∙ 𝑦𝑘

𝑛−𝑟

𝑘=0

𝑛

𝑟=0

 

𝑦′ =  𝑏𝑟𝑘 ∙ 𝑥
𝑟 ∙ 𝑦𝑘

𝑛−𝑟

𝑘=0

𝑛

𝑟=0

 



𝑥′ = 𝑎0 + 𝑎1 ∙ 𝑥 + 𝑎2 ∙ 𝑦 + 𝑎3 ∙ 𝑥 ∙ 𝑦 + 𝑎4 ∙ 𝑥
2 + 𝑎5 ∙ 𝑦

2 

𝑦′ = 𝑏0 + 𝑏1 ∙ 𝑥 + 𝑏2 ∙ 𝑦 + 𝑏3 ∙ 𝑥 ∙ 𝑦 + 𝑏4 ∙ 𝑥
2 + 𝑏5 ∙ 𝑦

2 

𝑥′ = 𝑎0 + 𝑎1 ∙ 𝑥 + 𝑎2 ∙ 𝑦 
𝑦′ = 𝑏0 + 𝑏1 ∙ 𝑥 + 𝑏2 ∙ 𝑦 



    

𝑥′ = 𝑎0 + 𝑎1 ∙ 𝑥 + 𝑎2 ∙ 𝑦 
𝑦′ = 𝑏0 + 𝑏1 ∙ 𝑥 + 𝑏2 ∙ 𝑦 

 
↓ 

 
𝑥′

𝑦′

1

=

𝑎1 𝑎2 𝑎0
𝑏1 𝑏2 𝑏0
0 0 1

∙
𝑥
𝑦
1

 





 







𝑥′ = 𝑥 ∙ 1 + 𝜅1 ∙ 𝑟
2 + 𝜅2 ∙ 𝑟

4 + 𝜅3 ∙ 𝑟
6  

𝑦′ = 𝑦 ∙ 1 + 𝜅1 ∙ 𝑟
2 + 𝜅2 ∙ 𝑟

4 + 𝜅3 ∙ 𝑟
6  

𝑥′ = 𝑥 + 2𝜌1 ∙ 𝑦 + 𝜌2 ∙ 𝑟
2 + 2𝑥2  

𝑦′ = 𝑦 + 2𝜌2 ∙ 𝑥 + 𝜌1 ∙ 𝑟
2 + 2𝑦2  



° ° °

°  °



  

𝑥′ = 𝑎0 + 𝑎1 ∙ 𝑥 + 𝑎2 ∙ 𝑦

𝑦′ = 𝑏0 + 𝑏1 ∙ 𝑥 + 𝑏2 ∙ 𝑦 
   kde   𝑎0, 𝑏0 → 0, 𝑎1, 𝑎2, 𝑏1, 𝑏2 → 𝑠𝑖𝑛, 𝑐𝑜𝑠  

 
⇓ 

 
𝑥′

𝑦′

1

=
cos𝛼 − sin 𝛼 0
sin 𝛼 cos 𝛼 0
0 0 1

∙
𝑥
𝑦
1

 

𝑥′ = 𝑥 ∙ cos 𝛼 − 𝑦 ∙ sin 𝛼    →    𝐽(𝑥′, 𝑦) 

𝑦′ =
𝑥′ ∙ sin 𝛼 + 𝑦

cos𝛼
   →    𝐾(𝑥′, 𝑦′) 








